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QUESTION 1

Match each address type to its appropriate range.

To answer, drag the appropriate address type from the column on the left to its range on the right.

Each address type may be used once, more than once, or not at all. Each correct match is worth one point.

Select and Place:

Address Types Answer Area

Loopback . Addres;
e 127.0.0.0 —127.255.255.25" Tyoe

i Addres;
::ﬂt:;sgs 192.168.0.0~ 192.168.255.355 e

Adldres;

Prvate 224.0.0.0 - 239.255.255.25¢ Tye
network y
acdresses

Correct Answer:

Address Types Answer Area

. Lcopback
127.0.0.0 - 127.255.255.25% acdresses

Private
network
acdresses

192.168.0.0— 192.168.255.153

LA L L

Multicast
224.0.0.0 - 239.255.255.25°% acdresses
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QUESTION 2

The topology of a local area network (LAN) is defined by the:
A. Number of devices to connect.

B. Physical and logical characteristics.

C. Distance between workstations.

D. Type of cable being used.

Correct Answer: B

Network topology is the arrangement of the various elements (links, nodes, etc.) of a computer network. Essentially, it is
the topological structure of a network and may be depicted physically or logically.

QUESTION 3

For each of the following statements, select Yes if the statement is true. Otherwise, select No. Each correct selection is
worth one point.

Hot Area:
Answer Area
Yes No
You use a perimeter network to grant internal clients access O O
to external resources.
A LAN has no access to the penimeter network. S O
A perimeter network typically contains servers that require O O

Internet access, such as web or em ail servers.

Correct Answer:
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Answer Area

Yes No
You use a perimeter network to grant internal clients access O o|
to external resources. '
A LAN has no access to the perimeter network. O |C}|

O

A penmeter network typically contains servers that require |O
Internet access, such as web or email servers.

QUESTION 4

The default port used for telnet is:
A. 23

B. 25

C. 80

D. 8080

Correct Answer: A

The telnet protocol is used to establish a connection to Transmission Control Protocol (TCP) port number 23, where a
Telnet server application (telnetd) is listening.

QUESTION 5

You need to run four Ethernet network drops. Each drop is approximately 125 feet/46.33 meters.
An interference exists along the path of each drop.

You need to ensure that interference is reduced.

Which cable type should you use?

A. STP Catbe

B. UTPCat5e

C. Cat3

98-366 Practice Test | 98-366 Exam Questions | 98-366 Braindumps 4/5


https://www.leads4pass.com/98-366.html
https://www.leads4pass.com/98-366.html
https://www.leads4pass.com/98-366.html

https://lwww.leads4pass.com/98-366.html

LeadS4 Pa ss 2024 Latest leads4pass 98-366 PDF and VCE dumps Download

D. UTPCat6
Correct Answer: A

Shielded cable, here STP Cat5e, would reduce interference.
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